Pass Test

Bessere Qualitat , bessere Dienstleistungen!

http://www.passtest.de

Einjahrige kostenlose Aktualisierung



http://www.passtest.de/

The safer , easier way to help you pass any IT exams.

Exam . 642-181

Title - Cisco Unified Presence
Design and Implementation

Version : Demo

1/2



The safer , easier way to help you pass any IT exams.

1.Your Cisco Unified Communications Manager Release 5.x has been upgraded to Cisco Unified
Communications Manager Release 6.x, and Cisco Unified Presence Release 1.x has been upgraded to
Cisco Unified Presence Release 6.x. After upgrade, which feature will not be found?

A.server redundancy

B.SIP PUBLISH trunk

C.calendaring via Microsoft Exchange

D.adjunct licensing

Answer:A

2.A user uses IBM Lotus Sametime to try a Click-to-Call, and the call gets rejected. The following are
possible causes of this problem. Which one is least likely to be the cases?

A.Rerouting calling search space on Cisco Unified Communications Manager

B.Cisco Unified Presence SIP proxy settings

C.Out-of-Dialog calling search space on Cisco Unified Communications Manager

D.IBM Lotus Sametime users using the default Sametime community

Answer:B

3.You are a network administrator for certways. You have just configured directory synchronization for
users of a Cisco Unified Presence solution. In order that Cisco Unified Personal Communicator logins to
authenticate with the directory, which of the following would you choose?

A.a secure link with Cisco Unified Communications Manager database

B.LDAP authentication enabled on Cisco Unified Presence

C.DC-Directory authentication with Cisco Unified Communications Manager

D.LDAP authentication enabled on Cisco Unified Communications Manager

Answer:D

4.User accounts for Cisco Unified Presence server are created with of the following applications. Which is
the proper application?

A.Cisco Unified Presence server administration

B.Cisco Unified Communications Manager administration

C.Cisco Unified Personal Communicator administration

D.third-party administration

Answer:B

5.0ne of the following is a peripheral component of Cisco Unified Presence. Which one is it?

A.sync agent

B.profile agent

C.SIP presence engine

D.SIP proxy

Answer:B

2/2



